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PSYCHOLOGY
Paper -1l

Note :

This paper contains fifty (50) objective type questions. Each question carries

two (2) marks. All questions are compulsory.

1. Which of the statements are true ?

1. Achievement tests assess what a
person has learned

2. Achievement and Aptitude tests are
not related

3. Achievement tests assesses one’s
potential to learn

4. Aptitude tests asses one’s potential
learn

5. On training person having the
aptitude increases his
performance

Codes :

(A) 2,3and 4
(B)

(C) 8,4and 5
(D) 1 and 5 only

1,4and5

2. Deviation IQ refer to

(A) Procedure of evaluating SD of
mental age at each age level

(B) Procedure assessing mentally
challenged individuals

(C) Procedure of assessing mentally
superior individuals

(D) Procedure for comparing I1Q scores
from 2 tests

K-1515

3. Kauffman Battery for children has three
dimensions namely

(A) Verbal, Performance and Non
Verbal

(B) Verbal, Quantitative and Non
Verbal

(C) Mental processing, Achievement
and Non Verbal

(D) Numerical, Abstract Reasoning and
Performance

4. The term Radical behaviorism is
associated with

(A) Skinner
(B) Watson
(C) Bandura
(D) Dollard

5. Which of the following are the Freudian
techniques to uncover unconscious ?

1. Free Association
2. Psycho drama
3. Hypnosis

4. Freudian slips

Codes :
(A) 1tand 2
(B) 2and 3
(C) 1and 4
(D) 2,3and 4
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6. According to Humanistic theories of 9. Traditional tests of intelligence are

personality which of the following is not useful

true ?
1. To predict academic performance

(A) Perception of the world is one’s

reality 2. To predict job performance

(B) Societal developmentis the primary 3. To identify mentally challenged

goal individuals
(C) Everyone has inherent tendency to 4. To identify gifted children
develop Codes :
(D) Person’s personality is more than
(A) 1,2and 3
the sum of its individual parts
(B) 1,2and 4
7. Flynn effect refers to
(C) 1,3and 4
(A) A decrease in the raw score mean
(D) 2,3and 4

on intelligence over a period of time

B) Constancy in the raw score mean ,
B) y 10. According to Roger’s theory of self-
on intelligence over a period of time .

actualizing tendency has

(C) Anincrease in the raw score mean 1. Biological functions

on intelligence over a period of time . )
2. Psychological functions

(D) Genetic intelligence on intellectual 3. Both biological and psychological

ability functions
4. Social interpersonal functions
8. RPMis
Codes :
(A) Based on geometrical theorems (A) 1and 4
(B) Based on progressive thoughts (B) 2 and 4
(C) Culture fair (C) 4 only
(D) To be applied on children only (D) 3 only
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11. According to Roger’s theory, personality
problems are primarily due to
(A) Genetic factors
(B) Family environmental
(C) Contradiction between Real and
Ideal self
(D) Conflict between personal and
social values
12. Match the following :
Functions Lobes
a) Interpreting 1) Frontal
b) Vision 2) Parietal
c) Planning 3) Occipital
d) Body sense 4) Temporal
Codes :
a b c d
(A) 2 1 3 4
B) 3 2 1 4
(C) 4 3 1 2
(D) 1 3 4 2
13. According to psychoanalysis dreams
have and
(A) Manifest and latent contents
(B) Id and super ego conflicts
(C) Oedipal and electra complex
(D) Latent and libidinal contents
K-1515

14.

15.

16.

Total Number of Pages : 24

The terms free will and free Association
are associated with and
, respectively.

A) Rogers and Freud
B) Freud and Rogers
C)

D)

Lewin and Feshinger

(
(
(
(D) Lewin and Freud

Arrange the following in a sequential
order.

1. Abstraction

2. Generalization
3. Categorization
Codes :

(A) 1,2,83
(B) 1,8,2
(C) 2,3,1
(D) 3,2,1

Following are the statements about
Chi square test. Which of the two are
not true ?

1. Itis non parametric test

2. Itis test of independence

3. ltis a parametric test

4. Itis not based on frequencies

Codes :

(A) 1,2and 3
(B) 3and 4
(C) 2and 3
(D) 1 and 4
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17.

18.

19.

Emotional intelligence does not include
1. Recognition

2. Perception

3. Control

4. Temperament

5. Expression

Codes :

A
B
C
D

1and 3
3,4and 5

(
(
(
(D) 1and 2

)
)
)
)

Arrange the following in sequential
order

Homeostasis
Consummatory response
Disequilibrium

Goal seeking

S

Goal reaching
Codes :

(A) 3,4,5,2 and 1
(B) 5,3,1,4and 2
(C) 4,2,5,3and 1
(D) 1,8,4,5and 2

Which of the following is not a

mnemonics strategy ?
(A) Imagery

(B) Method of loci

(C) Reading and writing
(

D) Pegging

K-1515

20.

21,

22.

Total Number of Pages : 24

In classical conditioning
is a UCS and if UCS is withdrawn.

It result in

(A) Food, Extinction
(B) Bell, Extinction
(C) Food, Spontaneous Recovery

(D) Bell, Spontaneous Recovery

Using operant conditioning model A is
paid salary every month and B is paid
on number of units produced. The
Schedule of reinforcement in case of
A and B are

(A) Fixed interval and fixed ratio
(B) Variable interval and variable ratio
(C) Fixed ratio and variable interval

(D) Variable ratio and fixed interval

Mental Measurement Year Book

contains

(A) Norms of various test

(B) Prices of various test

(C) Independent reviews of test

(D) Scales of measurement
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23.

24,

Match the following :

List-1 List-1I
a) Rogers 1) Collective
unconscious
b) Freud 2) Psycho-sexual
stages
c) Jung 3) Individual
Psychology
d) Adler 4) Humanistic
Psychology
Codes :
a b c d
(A) 1 4 3
(B) 1 2 3 4
(C) 3 1 4 2
(D) 2 1 3
Match the following :
List-1 List-1I
Phenomenon Psychologist
a) Habit-Strength 1) Bandura
b) Cognitive map 2) Skinner
c) Observational 3) Hull
learning
d) Fixed Ratio 4) Tolman
Codes :
a b c d
(A) 1 2 3 4
(B) 3 4 1 2
(C) 2 3 1 4
(D) 3 2 4 1

25.

26.

Total Number of Pages : 24

On which of the following speed and

power tests can be distinguished
1. Time limit
2. Difficulty level

3. Verbal/Non-verbal content
Codes :

(A) 1and 2

(B) 1and 3

(C) 2and 3

(D) 1,2and 3

Test construction steps are listed below.

Arrange them sequentially.

1. Internal consistency assessment
2. Item analysis

3. Test-retest reliability

4. ltem writing.
Codes :

(A) 4,2,1,3
(B) 4,1,3,2
(C) 2,4,1,3

(D) 4,3,2,1
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27.

Match List — | with List — Il and indicate
you answer using the given below :

Total Number of Pages : 24
29. Arrange the following in sequence :

1. Storage

30.

2. Retrieval
3. Encoding
4. Retention

Codes :

A) 3,1,4,2
B
C
D

1,4,3,2

(A)
(B)
(C) 2,1,3,4
(D)

4,2,1,3

Match the following :

28.

List—1 List-II

a) Predictive 1) Coverage of
validity areas

b) Concurrent 2) Theoretical
validity frame work

c) Construct 3) Agreement with
validity known fact

d) Content 4) Indicates future
validity performance

Codes :

a c d

(A) 3 4 2 1

(B) 2 1 3 4

(C) 1 2 4 3

(D) 4 3 2 1

Arrange the following in a chronological
order:

1. Attenuation model
2. Filter model
3. Capacity model

4. Late selection model
Codes :

(A) 1,2,4,3
(B) 1,4,2,3
(C) 2,1,4,3
(D) 3,1,2,4

K-1515

List-1
Scale
a) Equal appearing

interval

List—1I
Psychologist

1) Bogardus

b) Summated rating 2) Moran

c) Sociometry
d) Social distance
Codes :

a b
(A) 3 4
B) 4 3
(C) 1 2
(D) 8 2

3) Likert
4) Guttman
c d
2 1
2 1
3 4
4 1
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31. Match the following :

List—1

a) Concept

b) Prototype

c) Heuristics

d) Divergent

thinking

Codes :

K-1515

List—1I

1) Typical member

of a class

2) Characteristic
feature of creativity

3) Abstraction of
common
properties

4) |s a form of
syllogistic
thinking

5) Problem solving

approach
c d
2 1
3 4
5 2
1 4

32.

33.

Total Number of Pages : 24

Match the List — | with List —II.

List -1 List—1I
Brain structure Function
a) Amygdala 1) Consolidation
of memory
b) Medulla 2) Hunger and
oblongata thirst

c) Hippocampus 3) Fear
d) Hypothalamus 4) Heart rate and
breathing
5) Attention

N A O WO

w N w T

- W N = 0
&)

I

Choose the components of working
memory model from among the
following :

1. Visual sketchpad
2. Phonological loop
3. Echoic memory
4. Central executive
5

. lconic memory
Codes :
(A) 1,2,3
(B) 3,4,5
C) 2,3,5
(D) 1,2,4
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b) ©030ge 2) 1307
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C) BAROGF 3) TR SR
d) SeEdTYT 4) BReF RO
Bode3ned
a b c d
A) 1 2 3 4
(B) 4 3 1 2
C) 2 3 1 4
(D) 3 2 4 1
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37.
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34.

Which of the following are found to be
true with creative people ?

1. They are superior in one particular
area

2. They have ability to change mental
direction

3. They tend to be independent

4. They have external locus of control

5. They have internal locus of control

Codes :

A) 1,2,3,4

C
D) 1,2 and 3 only

(A)

(B) 2,3,4,5
(C) 1,2,3,5
(D)

35. Match the following :
List—1 List—1I
Phenomenon Psychologists
a) Latent learning 1) Bandura
b) Unconditioned 2) Skinner
stimulus
c) Self efficacy 3) Pavlov
d) Shaping 4) Tolman
Codes :
a b c d
A 1 2 3 4
(B) 4 3 1 2
(C) 2 3 1 4
(D) 3 2 4 1
K-1515

36.

37.

Total Number of Pages : 24
Match the following :
List—1
Memory

List-1I
Psychologist
a) Sensory memory 1) Baddley
b) Working memory 2) Craik and

Lockhart
c) Network memory 3) Atkinson-
Shiffrin
d) Level of 4) McClelland-
processing Rumelhart
Codes :
b c d
(A) 4 3 2 1
(B) 1 3 2 4
(C) 1 2 3 4
(D) 3 1 4 2

Given below are two statements,
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Selye’s three stages :
Alarm, Resistances and Exhaustion.

Reasoning (R) : Experience of job
stress generates arousal and motivation
for better performance.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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38.

39.

Given below are two statements,
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : High nAch people
attribute their own performance more to
internal than external factors.

Reasoning (R) : Low need achievement
is the result of poor expectancy by an
individual.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

Given below are two statements,
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Participants are
assigned to experiment and control
groups based on their level of motivation.

Reasoning (R) : In experimental studies
extraneous variables are controlled.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

K-1515

Total Number of Pages : 24

40. Given below are two statements,

41,

Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : A person’s responses
on 16 PF were disregarded because the
person scored very high on frequency
sub scale.

Reasoning (R) : Frequency subscale
scores of an individual indicates his
response style.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

Given below are two statements,
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Judging emotion
through facial expression is accurate.

Reasoning (R) : Perceived emotion is
a combination of arousal, appraisal and
labeling of cognition.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A)is false but (R) is true
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42.

43.

Given below are two statements,
Assertion (A) and Reason (R). Select

your answer using codes given below :

Assertion (A) : In problem solving
behavior. Artificial Intelligence (Al) uses

algorithmic approach.

Reasoning (R) : Artificial Intelligence

lacks experience and comprehension.
Codes :

(A) Both (A) and (R) are true and (R) is

correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

Arrange the following in order of
increasing control over the variable :

1. Laboratory experiments
2. Field studies
3. Survey

4. Quasi experiments
Codes :

(A) 3,2,4,1

(B) 2,3,4,1

(C) 4,1,3,2

(D) 3,1,4,2

K-1515

44,

45.

Total Number of Pages : 24
Given below are two statements,
Assertion (A) and Reason (R). Select

your answer using codes given below :

Assertion (A) : Direction of difference
between means is important in stating

hypothesis.

Reasoning (R) : Directional hypothesis

calls for one tailed test.

Codes :

(A) Both (A) and (R) are true and (R) is

correct explanation of (A)

(B) Both (A) and (R) are true but (R) is

not the correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

t-test : Mann-Whitney test: : ANOVA: ?
(A) Wilcoxon

(B) Kruskal-Wallis

(C) Chi-square

(D) MANOVA
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46.

Directions : (Q. 46 —50):

Read the following passage carefully
and answer the questions from 46 to 50.

Assessment of personality in the
organizational set up is growing in its
importance. Individual’'s past
experience, may not be a good predictor
of job success. Today organizations
and work are dynamic in nature. Instead
companies are looking for assessing
intangible skills such of how people
work in teams, how organized they are
etc. While employers are on favor of
using personality assessment
employees and applicants feel that their
experience should speak for itself.
Personality profiling is preferred than
typology. While people are sometimes
act their way through in interview, it is
hard to fool the personality test as some
of them have built in checks against
cheating.

Growing importance of personality
testing compared to previous job
experience in organising is because

(A) Personality tests are more popular

(B) While personality is more stable job
requirements change over time

(C) Job experience certificates are not
reliable

(D) Automation has made the job
performance easy

47.

48.

49.

50.

Total Number of Pages : 24

If you are having a person to be a team
player and using Neo5 which are the 2
factors you look for ?

(A) Conscientiousness and
extraversion

(B) Emotional stability and openness
(C) Agreeableness and openness

(D) Extraversion and openness

The primary reason for the employees
to object personality testing is that

(A) Tests are not objective

(B) They can take the test

(C) The testitems are hypothetical
(D)

D) They believe test performance and
personality are not related

Since personality prepared to typology
which of the following is suitable ?

(A) 16PF
(B) EPI

(C) MPQ
(D) MBTI

Personality inventories control fakability
through

(A) Halo effect
(B) Lie Scale
(C) X Scale
(D)

D) Frequency Scale

K-1515
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